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AL Consider the clreutt shown i ¥y, 1, Dtarning the voltags Yo, o
Thevenin's "Theoremm.
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2. In the circult of Kig2, 1052 W, Ma=10 (), My = # (L and (=(1 JHIRV. Thiss 11ttt
125 ; ~ conditlons are glven by v(0) = 1V and 1) = (1/Z)A,
% V(Jf Obtain the “homogetieous” differential equation grvering the wystetn,

2 in terms of v(t}, and the “characteristic” equation,
J &ff Will the response be under, over or critically datmped?
, \(y]‘ Solve for v(t) and evaluate all constamts from inthal comditions, snd
‘ plot it approximately. (¢
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‘/{ In the Cii'cuit of Fig. 3, we have!=8.0°4,V =604£90°V Z = 10490°Q_. .
~ Replace ¥ and the 10-Q resistance by a Norton Equivalent and predict Iz.

Write the expression for thﬁ current as a function of time, given that both
the sources generate signals at a frequency of 1000 radians/sec. (5)
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, 4. Obtéiﬁ thé generic fbrm of the natural response v(t) of the Sysfem of Fig; . :
by using the pole-zero plot of an appropriately identiﬁéd ixﬂpedance or
admittance function. Do not evaluate the constants (coefficients of the
exponentials) here. § 87§ ' S @




